9.3 Radians
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Take a piece of string and cut it so that it is the length of 1 radius. Mark a starting point and
measure how many radii it takes to go the full circumference. Record your answer below.
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Convert degrees to radians
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p—F -. Convert each degree measure to radians. Leave your answer in \
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¥** Go back to 9.2 notes and fill in the radian measure for each angle
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Length of an intercepted arc:

For a circle with radius r and a central angle @ (in
radians), the length s of the intercepted arc is:
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G. Find the length of s. \L JK\
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H. Find the length of b. k j
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|. Find the length of the missing piece of the circumference.
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